1002 - Country Roads

I am going to my home. There are many cities and many bi-directional roads between them. The
cities are numbered from 0 to n-1 and each road has a cost. There are m roads. You are given the
number of my city t where I belong. Now from each city you have to find the minimum cost to go
to my city. The cost is defined by the cost of the maximum road you have used to go to my city.

For example, in the above picture, if we want to go from 0 to 4, then we can choose

1) 0-1 -4 which costs 8, as 8 (1 - 4) is the maximum road we used
2) 0-2-4which costs 9,as 9 (0 - 2) is the maximum road we used
3) 0-3-4which costs 7,as 7 (3 - 4) is the maximum road we used

So, our resultis 7, as we can use 0 - 3 - 4.

Input

Input starts with an integer T (£ 20), denoting the number of test cases.

Each case starts with a blank line and two integers n (1 £ n < 500) and m (0 < m < 16000). The
next m lines, each will contain three integers u, vy w (0 S u, v < n, u # v, 1 < w < 20000)
indicating that there is a road between u and v with cost w. Then there will be a single integer t (0 <
t < n). There can be multiple roads between two cities.

Output
For each case, print the case number first. Then for all the cities (from 0 to n-1) you have to print
the cost. If there is no such path, print 'Impossible'.
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Sample Input Output for Sample Input
2 Case 1:
4
56 0
015 3
01 4 7
2 13 7
307 Case 2:
34 ¢ 4
318 0
1 3
Impossible
5 4 Impossible
015
01 4
213
34 7
1
Note

Dataset is huge, user faster I/O methods.
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